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Note : First 15 minutes are allotted for the candidates to read the question paper,
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Instruction :

i)  All questions are compulsory. Marks allotted to each question are given in
the margin.

ii) In numerical questions, give all the steps of calculation.
iiij Give relevant answers to the questions.

iv) Give chemical equations, wherever necessary.
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) 1%TEE i) 1% NaCl'l‘l_‘: i) 1% CaCl, iv) 1% T, 1
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) cut i) Ccu*? i), Ni*2 iv) Fe*3 1
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Four alternatives are given in each part of the following question. Select the correct
alternative and write it in your answer—b@k :

a) The aqueous solution having maxf:@.lm boiling point is

i) 1% Glucose i) 1% NaCl —iii) 1% CaCl, v} 1% Sucrose 1

b) A colourless ion in the following isﬁ\j

ij cu’ iijj cu*? iii) Nit? iv) Fe*3 1
c) The oxidation number of Cu in the ion [Cu(CN), ]'3 is

i) +2 iij +3 = i) + 1 v) -7 1
d) Rosenmund reduction gives

i)  Aldehyde i) Ether

iii) Carboxylic acid iv) Hydrocarbon 1

e How many primary amines are po(s}\ble for the formula (34H1 1N ?
\
. N =~ .. .
) 4 i) 3 ro i) 2 v) 5§ 1
. e,
How many primary alcoholic groupgiarc there in glucose ?
i)  One ii)

Two iii) Three ) Four 1
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[Na=23,Cl=355 2
| ~
—
Mn*3 3TaH ) e Mn 2o wfteg R B d w2 2
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5-85 g of NaCl is dissolved in 200 ml water. Calculate the molarity of the
solution. [ Na =23, Cl =353 | — | 2
In comparison to Mn*3 ions Mn*2ions are more stable. Why ? 2

Differentiate between double salt and complex salt by giving two examples of
each. 2

Write the equation of any one of nu_clcophilic substitution reactions of ethyl

bromide. - 2
O

fFg a9 W wHE F 5% (l:—]ﬁﬁ?amﬁawmmwm%?

(R=0-0821 L.atm/k-mol) ~ 2

e A 6 fafa =1 vawfiE adftwo fafgel 2
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Zrrem Tl W feof) ferf — 2

w .
At what temperature does 5% (_u-] .solutlon of glucose produce

7 atmospheric osmotic pressure ? { R=0-0821 L.atm/k-mol ) 2
Write the chemical equation for the-pgeparation of phenol. 2
—

pr value of aniline is more in cofiParison to that of methyl amine. State
~

N 9
the reason. ™
~J

Write a note on Tollen’s test. . )
\";‘
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Which one between 0-1 M Ureaand 0-1 M NaCl solution will have greater

osmotic pressure ? Explain the reason. 3

Explain the redox potential. 3

Explain the zero order of reaction by giving examples. 3

Write the colour of following metal ions in aqueous solution : 1+1+1

i) 2zn% i) cuZy iiij) Cu’

Prerferfien At % frga aress @ oA Aif 4
~J

CulCu™(1M) || Ag" (1M) | g

e}, E'cut2/cu=+0-34V, E AL*/ag=+0-80V

Ffifsran i orfasar 1 I T IR 4
wee % [Co(NH,)5C1|SO, W [CO(NH,4)5S0, )Cl fhm s & awraadi 31 4
Waﬁ%hm%ﬂﬁjﬁmﬁmﬁm% ? Tl wi
fofeu) 4
Calculate the electromotive force of the following cell : 4

CulCu™(1M) || Ag" (1 M) | Ag

Given E Cu*?/cy=+0-34V, E'mgt/ag=+0-80V

Explain the molecularity of rcaan with example. 4
Explain that !CQ(NH3}5c1}so§nd [Co(NH,)550, |Cl are of which type of
isomers. :j ' 4

Fehling's solution is used to identify which type of compounds ? Write
chernical equations. v 4
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h ) L+ 1 +1+1+1
i) CH, —CH=CH-CH(CH3]B;.§ i) (CH,), - C~CH,,(Br)

lii) (CH,),CBrCH,CH, W (CHy)ccl

NO, 1;
OH ™~
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iii) TS i:\ iv)  RMgX
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Write [UPAC names of the following : 1+1+1+1+1

) CH,-CH=CH-CH(CH;)Br i (CH,),-C-CH,(Br

iii) (CH,),CBrCH,CH, iv)  (CHy);CCl
NGO

OH
v)

Cl

OR'

How may the following be obtainéd ? 1+1+1+1+1
i) Ethane from methyl iodide . ii)  Allyl chloride from propene

iii) Isopropyl bromide from propene iv) 1-bromobutane from butene- 1
v} Propyne from propenc
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Write chemical equation for ohtaining carboxylic acid from the fnllowing .
P+ 14147y

i) Toluene :i iijy  Ethane nitrile
iii)  Ethanamide ﬂ iv)  RMgX
v} Benzoic anhydride N
3 or
i) Explain the mechanism of the reaction of diethyl ether with HI,
i) Explain the mechanism of dehydration of alcohol. 349
witefesees @ 6 fift w1 vanfe wiwm fafee o1 R ST T .
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Frfte forfe B 1+1+1+1+]
i)  KOH® ufeyfa f cHCI;% A ) C,H-MgBr

iii) s iv) NaNO, +HCI{(273-278K)
e
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Write the chemical equation for the preparation of acetaldehyde and write a

note on Aldol condensation and cross-Aldol condensation. 1+2+2
(DR |

Write notes on the following :\)

i}  Mechanism of esteriﬁca@m of carboxylic acid

iij  Hell-Volhard-Zelinsky Reaction. https://www.upboardonline.com
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Write the chemical equation for the preparation of Aniline and write the

chemical equation of its reaction with the following : l+1+1+1+1
i) CHCl ; in presence of KOH_.. 1i) C,H:MgBr
. O
1)  Bromine water ~ i) NaNO, + HCI (273 - 278 K )
N
~OR
Write short notes on the following : 2+1+2

i}  Coupling reaction
1i) Ammonolysis
iij) Gabriel phthalimide synthest$
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